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A pipe normally takes 4 min to fill a bucket. Due to a hole in the bucket, it takes
‘5 min. In how much time will the hole empty the full bucket?

U dlec] bl HIH & [T U Urgy Wwﬁrﬂﬁﬁlﬁwwﬁm%l diect §
Th B¢ B4 D DRUN, 398 5 [T Td 8| ¥¢ fhdd I09 0 G diect &l @reil d

aIT?

20 min

15 min

18 min

14 min
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Average weight of 25 students of a class is 50 kg. If the weight of the class
teacher is included, the average is increased by 1 kg. The weight of the teacher
IS

T el & 25 BHEI BT 3R HR 50 fHU1 g1 afe Fearm e o1 uR aferferd o
STl 5, 4l 3{d § 1 foun &1 9l g1 Sirdl g1 fRi&® $1 YR

76 kg
75 kg

70 kg

67 kg
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Three metal cubes whose edges measure 3 cm, 4 cm and 5 cm respectively
‘are melted to form a single cube, find its edge.

A1 ©Tq o O 5P fh-TR PHRT: 3 I, 4 JHT 3R 5 91 §, 35 U °- &1 o
ToTT fUaamar Sirdr g, 39@T Yol 1d DifsE |

15 cm

12 cm

6 cm

none of these
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The age of people as follows:

.18, 12,10, 16, 19, 15, 13, 10.

Find the median of the given data.
.‘IB, 12, 10, 16, 19, 15, 13, 10.

[SU T 3fimg] B ANLIDT I Ditor |

14.5

16

14

15
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A shopkeeper gives discount of 25% and still gains a profit of 20%, If cost price
is 160 then find marked price of item

Udh DGR 25% Bl T dl & 3R fhr Ul 20% BT AU UId Hdl §, Flc H
160 © <l 9% DT 3ifdbd Hed F1d DIford

356

256

240

266
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Find the area of square whose diagonal is 25V2 cm.

| BT &FAHd J1d Do forgdT fad ol 252 I8t §

600 cm?
625 cm?
500 cm?

575 cm?
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A bag contains Rs. 1, 50 paise, coins and the ratio of their value is 30 : 11 and
the total no. of coins are 520. Find the number of 50 paise coins?

U o7 H 1 394, 50 U & [{ddb 3R 3d HF BT 3U1d 30 : 11 3R Ridd| Dl
T 520 1 50 UH & Rydahl Dl AT J1d Hifoe?

210

220

200

400
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Rakesh marked the price of an article 30% above the cost price and sells that
article after giving a 10% discount and makes a profit of Rs. 340. Find the cost
price of the article.

B - Uh G B 3ifcbd Hed ohd Hed Y 30% 38 3ifdrd (a1 3R 10% B¢

& & qI¢ 39 9 DI o AT 3R 340 U BT 14 HHMAT| 9 BT b Yed IMd

DIfoTY |

Rs. 2000

Rs. 3000

Rs. 4000

Rs. 2500
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X buys two articles for Rs. 5,000 each and sells them with no loss and no gain
in the interaction. If one was sold at a gain of 20% the other is sold at a loss of

X &l 93l § d Udd @l 5,000 0 H W@Riadl g 3R dde H o1 fddt ar sik
I & 1Y §9dT g1 Tl Th Bl 20% ATH R &F1 T 4T dl GaR i fhd-l g1 IR
CEIRIRIRI i

18%

20%

22%

25%
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65% of a number is more than 25% of the number by 120. What is 20% of that
number? U HHT BT 65%, TBAT B 25% I 120 H¥D © | I TBAT BT 20% R 572

60

66

48

69
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A cylinder has a diameter of 12 mm and the height is 12 mm. What is the total
'surface area?

Uh sci- &l A 12 Bl g a1 39P! 3drs 12 [ g1 3961 o Uslg &ahd

200 T mMm2

216 1T mm?

144 1 mm?

432 T mm?
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A sum of money becomes 5 times at simple interest in 16 years. What is the
rate of interest?

Udh ¢RI AR TS UR 16 981 H 5 T[T 81 Sl g | SFT9] &R 1 572

33.33%

25%

20%

30%
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X and Y together take 36 days to complete a work. X does half as much work as

'Y in 1/3™ of the time as Y. Find how much time X takes to complete the work
alone?

X 3R Y @I Udh DR GRT HR H 36 fod DI g9 Taigl X, Y H 13 90g HY I
STEYT DY BRI g | X 3dbdl, B Dl {hd- GHI H TR DR gbdl 572

40 days
45 days
50 days

60 days
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Amounts after 2 years and 3 years at compound interest are Rs. 2420 and Rs.
2662 respectively. Find the sum lent.

2 3R 3 Y[ o &I dehdlq sATol UR (e hHgT: 2420 39U 3R 2662 3T g |
JYUR &I 75 AT 1T Difor |

Rs. 1000

Rs. 2200

Rs. 1200

Rs. 2000
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A bottle of capacity 80 litres contains alcohol and spirit in the ratio 7 : 3. How
‘much spirit must be added to the mixture, so that the ratio of alcohol and spirit
become 2: 17

80 TIc} &HdI dTell Ush didd § 7 : 3 & 3-UId | Sehlgd 3R (B o | Ay |
Tha-l [8re @I [HdrT Sl 9@1igy, difd Sfeblgd 3R YT &l 3(HUld 2 : 1 gl $u?

1 litres

2 litres

3 litres

4 litres
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If 515 x 53 + 532 = 53*2 then find the value of a.
gfe 5V5 x 53 = 532 = 5a*2 Gq g BT A JTd PIOT|

4
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The average of 3 consecutive numbers is 16. What is the new average when
the 3 numbers are multiplied by 47

3 HNTA TRAT3A] BT 3{d 16 © | 3 TATHAT Bl 4 UM DA R 7471 3-d 1 872

65

66

60

64
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A starts a business with Rs. 21,000 and after some time; B joins his with a
‘capital of Rs. 36000. After how many months; B joins if the profit is distributed in
equal Ratio at the end of the year.

A 21,000 39T & Y U I Y= DHRdl ¢ 3R $ I d1G; B 36000 30
Bl Usil & A1y I O[S SIdl o | Afc Iy o 3fd § Ay 9 S=urd | [aid fobar
SITdT © dl [ BIfoTe B fbd- Al |Ta RMd gidl 872

5 months

6 months

7 months

8 months
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The sum of the age of son and father at Present is 56 years. After 4 years; The
‘age of father will be 3 times of his son. What is the Present age of his son?

JHH H O 3R U &1 39 &1 ART 56 I1d o | 4 914 d1e; [0dr d1 39 3ddH g7 A
BIEI BRI 3D GF Bl gdHM 39 H1 5?2

11 years
12 years
13 years

14 years
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Find the greatest possible length which can be used to measure exactly the
lengths 5m85cm, 11 m25cm, 6 m75cm?

Jol I do! GHT ddls J1d Do forgeT IugiT 5 { 85 I, 11 HY 25 JH, 6 Hi 75
AT DI dE13d] Bl ATYA H BT Sl Gbhdl 872

40 cm

45 cm

42 cm

47 cm
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Find the HCF of (2° x 3% x 52 x 79) and (2% x 3° x 5° x 72),

(20 x 3% x 52 x 73) UG (24 x 35 x 5% x 72) B[ HgH YHIYAID J1d Do |

(22 x 3 x 53 x 7)
(2% x 3% x 52 x 72)
(2° x 3° x 5° x 7°)

(2’1D % 39 x 5? % ?5)
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In the world cup, Sachin has a batting average of 70 runs in 8 matches till the
'semi-finals. How much should Sachin score in the 9th match i.e. the final match
to get a batting average of 807

[y &Y H, i D1 JHIBIed ddb 8 Tl H decidloil 319d 70 39 g | Sifad o4
TP Sccidroll d 80 UM & [olU 9 9 Hg H Afd &1 fdhd-1 I3 §-MH1 d1fgu?

160

140

150

145
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The average of nine consecutive odd numbers is 53. The least odd number is

HATTA T fauH Te13ii &7 3d 53 © | J99 |lc! favyq IB I g

22

27

35

45
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A shopkeeper fixes the marked price of an item 45% above its cost price. The
‘percentage of discount allowed to gain 16% is

Uh GhHR U a¥d DI Sifbd Ted 39D ol Ted H 45% 3HfeIh U HRdl 5| 16%
ATH YT B & (oW Fe Ufa=rd a7 g2

18%

20%

22%

24%
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Find the height of the equilateral triangle having side 14 cm.

JHETg AYS DI TS J1d BT [SradH! YT 14 JH1 o

5v3 cm
473 cm
73 cm

9V3 cm
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In a shop there are two varieties of rice, the costlier rice is Rs.45/kg and
‘cheaper rice is Rs.30/kg. In what ratio should they be mixed so that on selling
the mixture at Rs.56 there is a profit of 40%?
Uh b1 H drad B! al fbe g, He'l drad 45 9 fdbal 3R T 91dd 30 30
Thdl g1 3= by 3rura # f&cmar SHm arfge difd g &1 56 398§ g9 |R
40% T 1Y BI?
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